#100[E H ARE EE @ FHE RS [16500100]
Ru<BpEAFT 7 A [221010]
2016/06/24 ~ 2016/06/26

4 % W B ok RE/ER A A X — M E O SOFE B=
Be B OF W £ B EHTCETRFRAER SRl fE
#dit%%ﬁ i el v S <1 B
A HiH 17 2L 3fi AL 5 6fi uﬁ 8fiL
6F25H % 4100m R ) 10.16{ LI 5EA(92) 10.17[ M #£75(95) 10.31[ KT —H(94) 10411 &M #H94) 10.45( /555 & H1(90) 10.48| A JH1694) 10.49{JLH 75(92) 10.53
JE:70.3 D # 5-SEIKO B E-RPER ] - RO B JN-HRBOK Jb#EiE - LALL AC B RN BHERK — H-NTN
6A26H 5+200m iz RO 20.11| Ml %A(88) 20.31|/8 FAAR(92) 20.33[J18 ZER1(94) 20.65 (KT —H(94) 2072t #Ew1(86) 20.77[& 1 BERES94) 20.81
R :+1.8 i [-IRx/ T - tim [t s AXXIEARAC = H-AAREEX el - RO ) - FZE)1 - ek
R 5 2-100m an )T 45.35| i 1EH,(95) 45.71[AL)1 EF(96) 45.93[HIAS AR H(92) 46.15|fik % KHR(94) 46.30(FRJR #(85) 46.41 [JHIF 1590 46.52 (il 51T(89) 46.64
B E-RPER i [ - AR O I ERE K o E-EAET B E-IRER W -2 AAITA B E-IRPER AZE)1| - & i
S #7500m J5E 5%(93) 1:46.22 [ AT 1:47.45) =3 M9 1:48.99 (WA fR EH(97) 1:49.80[ KA £(94) 1:50.76 (WL Z2Ri(94) 1:51.02{HfHIO3) 1:51.55 M IEBEO1) 1:59.59
[ - AR RARAC N | A - HAK B E-RRREK K P THER - AARAE AR — H-AGF S T Rl AR AT
6H250 5 1500m S HER(93) 3:46.66( = [ —1%(93) 3:A7.10| % t(92) 3:47.49|5& % H 17I(98) 3:48.28(/E M KEIE(93) 3:48.53 (RS 15(95) 3:48.69 (1)1l 4%(86) 3:49.04[BKA f5£2(92) 3:49.40
- iR V7" L - PR - JRACH A - E o E-EAET fo - BV SEBER T TRy S Ji - (LR R A
6H26H 5 45000m ESEIRZICI) 13:37.13] % #—FR(85) 13:39.23[ A% FiA(92) 13:39.52[—f 75E(94) 13:39.65| /7 H HEFA(93) 13:46.98[ i 2£(92) 13:48.52[ )1l Z£HE(90) 13:48.55[3% &K (1) 13:48.71
#L_ni-Nike ORPJT B HL-DeNA B - BB Pl S A2 W R B V7" B Bk T %E- B il ¥ E-Honda
6F 24 5 710000m ESEIRZICI) 28:07.44[#F 1L #EA(93) 28:16.54 [ f&AK(91) 28:17.51[ i 2£(92) 28:22.13[/% A EWER(95) 28:25.52| KAE 7 #A(92) 28:26.53[ LA 1%:2(86) 28:26.92 (48 HH(91) 28:29.10
#_ 5 -Nike ORPJT B - BB ¥ F-Honda B - JEAR AR B - AR B JEAR R W Hea=hI NS B HIE S V=7
enoen|  BUomHLO6Tm)  [RI% 9D 13484457 SER(93) 13.51 |43 KIE(95) 13.61| K= F51(90) 13.66( 4 #EHOT) 13.71[#AK  TUE(95) 13.78[{fE  Ki(90) 14.61
JE:+2.4 AT HUb R E-ErTR AL - PEBOR KR R - R R = SVA 1) H - H b
6nosa| B raoomHoomm | TR EEEOD 49.14[48°F #AH91) 49.31[/h B3 A(90) 49.55[ 0 R ELO94) 49.95[ 1B E (94 50.01 (1L ¥#5(91) 50.53 [ M FiIF&(87) 50.55(%F 11 (94 50.84
) W FLIx) ) IR o - EAET B A PR Frlll ALY SN i [1-0OPC K- RBRH A T 3E-EREAR
6267 | 7 73000mSC(0.914m) PN HCE)) 8:36.39 |t Frt(96) 8:36.45] (L1 11 (*.5%;“(91) 8:41.90[kaA 2E(87) 8:41.95|3k®F K pk(97) 8:44.39[(LF PE(88) 8:51.16[HER #3584 8:51.36|/hEE 32(97) 8:52.39
) T -wtiE BB JIER AR B - R RE LR i I LIPN — H-NTN — H-NTN BB BPER
firiE  E Q1) 2m29 {/ e 1%(94) 2m25] {5 2m20| 7R 3i—(95) 2m20 |14 fE—(96) 2m20[ R i A96) 2m20 R BEAER(97) 2m15
6A26H PES—- = #-AGF Z R ffﬁﬁ?ﬁ)ll HZICT g7 B« 67 B E PN B B EE R AR KR SEABER
i B A92) 2m20
B - LRI
TREF AHA(80) 5m60 [k H  KHH(87) 5m60 HE 5LK(89) 5m50 [/AHE HEFE94) 5m40 [ o7 Hino2) 5m40 SR FREA(95) 5m30
6A 241 PESTa— I = & 3R e [« AXFRARAC R B 1B HIRTME L) ARC AR
[IIENECH) 5m60 SKIET 5LHH96) 5m40
T H-hELEHB)E B AR ER AR
6H 250 57 BA PBIAOQ2)  Tm93(-0.D)[Mil EAER05) 7Tm83(+0.3)| T #1:(92)  Tm72(-0.3)[TER ZZZ(92)  Tm65(0.0)|FH HAEO4)  Tm63(+0.5)[ TE {H—HE90) Tm62(+0.3)[/NH FEE(90)  7m57(0.0)|ffikE #EIE©99)  7m55(+0.6)
- To—3 s - AR AL HEE Fakil-A—20 I BRI T - ERER b LT JLifiE - FHEAC A o s
6A26H PE—— LA ERE95)  16m52(+1.7) | BRI KFEO0)  16m41(0.0)| )11 Fn3§(82) 16m27(+2.0)[Z2ih 5LAE(92) 16m24(+0.9)[fE4% 5n(87)  16m23(+0.D|f&fs I£91)  16m12G+0.7)|)IE #F96) 15m85(+1.0)[ i FF:(94) 15m84(+1.7)
— R JIER R #0431+ HSZICT R B REFEHAC 041 - HIRRAC BRI AAITA Iz _F.-SELECT HE IS ER AR -l QLLIPN
SHH| BT RALG.260k) T TR(82) 18m53|HR! KHE(93) 17m81| & H  JER(95) 17m50 |tk 1iEE(92) 17m40|gr A E5(93) 17m28|'= N B K(90) 17ml7|# T KH194) 17m00|Ff I E(96) 16m81
) HE IS -HESIRE N —R R ACF—LIX) MO HAK o sCEHEEEITT Ot HARK B At H AR bR S 5o JE R = HeEEEER
ohen|  mrmmncong & REAE9) 60m00| &2 5£(92) 58m36 (7% I [I}EE93) 56m66 [AiH 45(91) 54m24| ==K H—97) 54m15 (L SEHE(TT) 52m87 |45k 7 5R(93) 52m61 [HAS KHE(93) 52m45
) HE IS RS IRE N —R )Y T A-hELEHE)E & S T.T. - PIEK FpZR)I- 2 i 1l HAK e
6RH| BTt 0 | SEAOD 70m81|fike EAZ(94) 69m48 [ MRAE HLE(90) 67m67 |(RK HEELEO1) 67m42| L ZZHA(78) 67m24|FHth %(86) 66m69 iz JLIRO91) 66m33| P AL4H(95) 66m28
i AR Ta—Y = H-hEek 5 H- B et HE IS BRSO —R KRR FTT I FeF—HIRX) i )| - Teami 52 /R AW\ EL RPN
6A25H 200 £2(8008) B D 84m54 [#F | 3= 51(79) 78m10[E&)1 $17(90) 76m50 /v fEw1(95) 75m77 |7 e—-ukr imen 75mO1 [/ #h A (95) 74m72(#% 75(96) 72m00 | FH i HEE(95) 71m28
Wi - AXRIAC CRI# [ - AXFIRARAC fi A S PA R el 1] B B HAR T MIX) A - [ AR T IE-AARK T B HAK
6H26H T445 7-100m [ EESC) 11.83| L #54(96) 12.19|4#= M #i(78) 12.48
JR:+1.6 F - hEXEHBE e Fn- R iff [ - Xiborg
6A26H T4TH7-100m 21 Fn77(86) 11.32
JH:+1.6 #%5)11- AC-KITA
6A26H 1547 7-1500m W BEO1) 3:06.69(fl 1 Er3=(79) 3:06.79|85 A HHH(94) 3:07.07[ILA #.Z(66) 3:07.74|Fa7k {=E(72) 3:08.75| 8 H1F=(92) 3:16.46

& _[ifl - TOPPAN

Pl A i e A

T 35-BIR TR

fig i e N PANS—R

il _111-WORLD-AC

il _111-WORLD-AC




#100[E H ARE EE @ FHE RS [16500100]
Ru<BpEAFT 7 A [221010]
2016/06/24 ~ 2016/06/26

oy s EH R e okE/ER MA XX — NEH R REE B
BB OW WO MU ERCExHHE SRl fE
MEFENE  FEE B @ s ¥ (F bk —H
H A HiH 17 2L 30 i 5hz 6fi [ 8fic
faE TH(88) 11.45( 75 %3£(99) 11.74 [ Fn(91) 11.75]=F~— 12307 11.88 AR ZAR(94) 11.92|FnH  WRA(86) 12.07|t@H  EA(©98) 12.13
6A25H £7100m JeitisE - AeHEE AT 7AC ([ - AR = H-CRANE HH AARKR - F IR HOHpIR R AR
JE:-0.2 il F2HE96) 11.88
B8 - B E ALK
6H26H LF200m Rk TH8) 22887 3£55(99) 23.46(17)1 FEROL) 23.86(4JF IDHEHL(90) 23.92| K LTHIF(94) 23.96|FEEF HLE#(90) 24.07| i FAE(96) 24.26|F0H A (86) 24.39
JEL:+1.8 i it A7 7AC NR| L st JR|E Fn-IX) E TR fi] 1L~ R O bR B8 BB R ALK TSR
SUEEZEECH) 53.04H A VA98) 53.66 111 H1(94) 53.76 [faA £3357-(96) 54.67 HE EEOD 54.80[/INH3E  HR93) 55.01 (k5 M Z3E(98) 55.02
6A25H L 400m B AR KB BRZE)I - FRPE R T EFAEKR B - BUER H T v hR—2A 5o JiE - B e
5 WH97) 54.67
NS NN
6H26H L 7800m T F-(98) 2:05.92[ LI 1372(94) 2:06.83[ KA AIE92) 2:06.83|I5H A #(95) 2:07.43| 74 IRHEF98) 2:07. 71| R #£75(99) 2:07.72| MEB #1(95) 2:07.88|F-BF #%1-(95) 2:09.13
B - NTArE BB HUTERER K oy T B BRI K KB AR e B AR - O S R UK HRZR) 1] - LR
6H250 L T1500m AH KE9D 41467 [HITP 7592(99) 4:15.43 AR FEIR(88) 4:16.61[F1H A3E(99) 4:18.95[ B ARZEOT) 4:19.56 ([N f%1-(87) 4:21.02[#)11 THI®T) 4:22.62[ Frlii] 5% (97) 4:23.01
) T o= —iy ] A WA £ 9P RS T -k T W gpt-=yn = H-TuY—
6H26H 1 F5000m [EEEDICE) 15:19.37 (¢ A HHFO)  15:24.47(BIR {ERBL96) 15:24.74 1 JF #53(95) 15:29.12] FJi 355%(95) 15:33.49| KAk 3% (94) 15:36.10{ fA I 5#1-(92) 15:37.82| AT #75(90) 15:37.85
) T 3E-RBikiks: H P HABBG AT JP HARHEG RS-~ SR A -y KB SranfEk T 3Rk T BE-a=N—HL
6F 24 L 710000m gA EETOD  31:18.73[BIR EBLO96)  31:22.92[mnk A8 31:35.76[FAM AiZE(95)  32:06.04[RAMEF BI-(92)  32:10.48[fJF #3E(95)  32:10.96| LR 3£3E(95)  32:18.09(7THE EM(90) 32:20.94
- JP H ARG H 5t JP H AEEG BB AR R B-Z A~ T 3E-Rkiky B S~ X EE WO B IS v~ 2 R
6Roep| A T100mHO.838m)  [AKT 3CT(88) 13.23[ %8 13 4(94) 13.38[F AR 2A(94) 13.38[ 46K {=3£(90) 13.43 ik RET-91) 13.43[HH {£i3£(98) 13.45|/1bk 5 R7(96) 13.49[3K 1 BEXOD) 13.65
Ja: 2.1 IR BT A i R fit] L~ BRACT i - BORERT T 3E-25— K BR-BIR— R0 BHBG MR EASY S
6A260|  deraoomboteom | A HEXEE2) 56.62| & & &0 57.26 (15 M§-(97) 57.88| £ #i(93) 57892 M FE(91) 58.02 (/ML H:£42(98) 58.T9[MEIE #5 H (94) 58.92[5dF #A(97) 58.95
) B B-BETME VY ARC [ T R —A KB FRBR KB SranfE R 5 F— IR )| T S e S Al SEAER NI R 1PN
6A250 | Ler00mscOTeom |FIME ZERO6) 9:44.22|# BEET(92) 9:45.27| =48 2107 (89) 9:54.21 ik §EA(96) 9:59.35[ 1A & 7(98) 10:04.23| {5 £ % (89) 10:04.28 kA wIZ7-(94) 10:08.05(%21 1 477(99) 10:08.94
) ) Pl S NITD/N CRIT #E-HK{L [ s ARFIRARAC AR - SEEOR AR T 3E-25— B Fn- AWK ] - AL LN T S
B #7091 1m78|E 1L 1E(94) Im75|f@A =(77) 1m70 W A A(88) 1m70
JeitgsE - eHEE AT 7AC (K& - iEEE 77 F Ji- R EIAC K B-3F4b72)
- - iy F4E96) 1m70 M 13570294) 1m70
o Je R W6 - R B R A
i ©=)71(96) 1m70 WAL FiAc(94) 1m70
KB FRBR = H-BHEEKX
6A25H - HE i%7(90) Am10| 48 3EFE(90) AmO0[Feffr 7 H(88) Am00 |38 B SEBE(98) 3m90|FHl A (98) 3m90|ffH %(88) 3m8O[HEA 1) 3m80|ARZH 1K F(96) 3m80
" BB HETAM Ly ARC B E-b—TL e B RV AI A=A BB KH &A= WA ERE KPR B AR B st - A TEC St - B P E R
A2 . HE 413E(93)  6m36(+0.5)[~ 7 #Hoe) 6m28G+1.A)[IEAK EREOD  6m23(+0.4)|hE #(90) 6m16(+1.9)|1LIH #E(94) 6m12(+1.5)| Kok B9  6m09(-1.2)[HKk M3E94) 6mO5G+L.D|ILTF AH97)  5m97(-0.2)
" ¥ E-VOLVER AU A R T %E-3duE e K e RIRE B E-SEK e i) -t Y s « KRB AR R AR KPR SrhnfE K
6H25H LTk EYCAR92) 13m44(+0. /A B89 12m95(+0.1)|M%F SERTF(91) 12m89(+0.4)[#A B T(95) 12m70(+0.D)[HA #25490)  12m69(0.0)|[#FF HA2L(94)  12m66(0.0)[AiTH F1#&(90) 12m62(+0.3)[ i ##i(94) 12m37(+0.1)
— =Xy Iz B BT AV F9 ) A B AAITA KB AL ARER a0 HU e B SRR & B AR TIL B E-FREEK
6250 |  AFHALEEU.000ke) KH Hi5095) 15m88|Hf 324 {3(97) 15m33| & B T-1(86) 15m20 (78 1#(95) 15m09[/% 1L T-51(89) 15m09[f2H & 2.(93) 14m98| 1L Fn#E(99) 14m52(va)1l F77=1(96) 14m34
) e ] - e i KBRS R B E-BERe e EEER W ACEEEITT B BTV VY ARC S - AR R i 2y - i K
6A26R|  frmmLoog | BH TESE9) 53m89|HH  HH T(92) 53m21 Ak H 3£(95) 50m46 75k FLA(01) 49m65 |11 2 T5F195) 49m22 | WA E(83) 4Tm34| B 595) 46m29| 1A FEH94) 46m20
) T S T.T. - WERITT A A ER AR L J7 - 0 T e PN RE R PN BB BBV ARC  [#0A) - E AR & Btk
6H24R| e o—tro00kg | R PO 65m33(iE ITE(B0) 64m37 |51l 1E35(94) 62m37| B $H{EET) 58m18| i RAHx(92) 58mO8|ffH ERIL(93) 57m30| K& #J5(90) 57m20| &)1 Z5H(95) 56m88
i e ] - FLFE R R F I HETH B E-HEK KB k77 | K B EEdibEg b QR el ] & [#-NTS =S A PN
65258 L PR BE00R) R e 58m35 [ViE£ )5 A 7i(85) 57m88 (b1 #EAE98) 5Tm23 ek & fE92) 56md4 |4t A E(95) 54m81|[FHE EFLH(95) 54m62[Bh7k 1-35(88) 53m39 W) 1| 5 F-(94) 53m22
KB RIEKRT.C F [ - ARFIERARAC AbifiEiE - HAK KB~ FRBR e b [IIRE RN K e EEER gl -A—20 N3N ON N

JLBI NR: B AR CReR g JR:Jr(U20) H ATk




